HH6FE BRINZFES

S0 64 48 18H 55K T8 3A318FT

(88f17: 1)
) B FEZE BEEYES 1B E
| —REFTEBRODS
1. EEIBEO
(1) BB
2 N = B 440, 000 450, 000 -10, 000
E = 8 = BN = B 440, 000 450, 000 -10, 000
B X N #® 141, 600 141, 600 0
BER-2BXEEEZEWNHE 5, 000 5, 000 0
ABTFRNERNESHEIERNG 136, 600 136, 600 0
Sl ESE 3, 700, 000 3, 700, 000 0
= B i 5% = 3, 700, 000 3, 700, 000 0
MO =R 0 0 0
= B F 2 0 0 0
BBUNEEE 4, 281, 600 4, 291, 600 -10, 000
(2) BEBH
g X B 3, 841, 600 3, 841, 600 0
154 8 i il 1, 188, 000 1, 188, 000 0
s} ® F o) 1, 619, 000 1, 619, 000 0
B8 F E s = 445, 600 445, 600 0
= & & 45, 000 45, 000 0
i3 & 2 B & 161, 000 161, 000 0
B = B % & 61, 000 61, 000 0
B 5 &0 5 8, 100 8, 100 0
En il = PN & 1, 500 1, 500 0
= B xl 301, 400 301, 400 0
= h = B 10, 000 10, 000 0
M 5 1, 000 1, 000 0
T 1B B 440, 000 450, 000 -10, 000
& = i B 12, 000 12, 000 0
B B =F e 181, 000 181, 000 0
= F = s & 50, 000 50, 000 0
= & & 25, 000 25, 000 0
i3 & 2 B & 15, 000 15, 000 0
B = B i & 5, 000 5, 000 0
b= 5 & & 1, 000 1, 000 0
= s $l 49, 000 59, 000 -10, 000
52 th = & 20, 000 20, 000 0
2z R & 20, 000 20, 000 0
bz 2 n 60, 000 60, 000 0
Mt & 2, 000 2, 000 0
BEEAsT 4, 281, 600 4, 291, 600 -10, 000
SIS F AR LR B 18RAR 0 0 0
B s HdESt 0 0 0
WERRR EIBRER 0 0 0
2. BEEINMNSEODES
(1) BB
BEAUESST 0 0 0
(2) BEAER
BENERET 0 0 0
WERREINMEREER 0 0 0
WHA—MR IFCRRAEEIBRIER 0 0 0
—RIEGKMERERS 703, 206 590, 726 112, 480
—RIFRRAERARE S 703, 206 590, 726 112, 480
Il $E8ELELREIEISR SR
WHATE B IECRRA EEIBRIER 0 0 0
BRIV ERSRS 0 0 0
BEEKRMERRES 0 0 0
Il IFRBIEBRRES 703, 206 590, 726 112, 480

6B 1.

= ERMRER 1, 200, 000F




